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14206 /NEETH0 #% 00 #% 97,830 91, 440 3,130 30, 150 58,170 39,950 15, 230 2,990 1,440
14206 /NEIRTHO #3% 01 AZmEtEXE: 92, 880 91, 440 3,130 30, 150 58,170 39, 950 15, 230 2,990 1,440
14206 /NEER0 %% 02 a. 8B =M ERE 92, 880 91,440 3,130 30, 150 58,170 39, 950 15, 230 2,990 1,440
14206 /NEIRTO #3% 03 lalmhiL X1 85, 850 84, 440 2,780 27,020 54, 640 37,540 14,110 2,990 1,410
14206 /NEETH O #a%g 04 1 TR (a) 14, 940 14, 750 320 3,750 10, 680 6, 450 3,570 660 190
14206 /NEETH O #a%g 05 (NITEARE (a) 10, 440 10,410 290 3,180 6, 950 4,760 1,770 420 20
14206 /NEIRTO #3% 06 () ITXBRXE (a) 4,500 4,340 30 570 3,740 1, 690 1,800 250 160
14206 /NEER0 %% 07 2 BERSE (2) 14, 880 14,730 730 4,120 9,880 6,160 2,140 1,580 140
14206 /NEETH O #a%g 08 (NAEEARE (a) 5,550 5,510 170 760 4,580 2, 650 940 990 40
14206 /NEIRTO #3% 09 QFEEBRE (a) 9,320 9,220 560 3,360 5,300 3,510 1,190 600 100
14206 /NEER0 %% 10 3 BEERE (a) 56, 030 54, 950 1,730 19, 140 34,080 24,930 8,400 740 1,080
14206 /NEER0 %% 11 () EE#E (a) 39,410 38, 440 1,010 12,540 24,890 16, 870 7,270 740 970
14206 /NEIRTO #3% 12 Q) hEBERERAMNE (a) 13,030 12,920 560 4,780 7,570 6, 440 1,130 - 110
14206 /NEIRTO #3% 13 (3) B EBEAMIE (a) 3, 600 3,600 150 1,820 1,620 1,620 - - -
14206 /NEIRTO #3% 14 Tol#E AR XS 7,030 7,010 350 3,130 3,530 2,410 1,120 - 20
14206 /NEIRTO #3% 15 b. JE#R 3| = ERTiTEHEI K i - - - - - - - - -
14206 /NEIRTO #3% 16 [c] Azt - - - - - - - - -
14206 /NEIRTO #3% 17 1 TERE (b) - - - - - - - - -
14206 /NEIRTO #3% 18 (1) TEARHE (b) - - - - - - - - -
14206 /NEIRTO #3% 19 ) I%BRiE (b) - - - - - - - - -
14206 /NEIRTO #3% 20 2 WERE (b) - - - - - - - - -
14206 /NEIRTO #3% 21 (NEEARE (b) - - - - - - - - -
14206 /NEIRTO #3% 22 QEEBRE (b) - - - - - - - - -
14206 /NEIRTO #3% 23 3 HEERE (b) - - - - - - - - -
14206 /NEIRTO #3% 24 (1) tERBhis (b) - - - - - - - - -
14206 /NEIRTO #3% 25 () BB EEANE (b) - - - - - - - - -
14206 /NEIRTO #3% 26 (3)EREEERME (b) - - - - - - - - -
14206 /NEIRTO #3% 27 [d] iz ot - - - - - - - - -
14206 /NEIRTO #3% 28 BERHEHEIRX 15 L5 ) K iz - - - - - - - - -
14206 /NEIRTHO #3% SI_ (B48) WA Bisk (B A dhigh B R ok st 62,720 61,440 1,930 18, 800 40,720 27,620 10,570 2,530 1,270
14206 /R 1 Bt U[00 Kk 78,890 77,680 2,480 26,150 49, 050 33,990 12,620 2,450 1,210
14206 /NERTH1 BEttEsH Y[01 ABHEXSE 78, 890 77,680 2,480 26,150 49, 050 33,990 12,620 2,450 1,210
14206 /NERTH1 Bt U[02 a 25| =HHstEXSE 78, 890 77, 680 2,480 26,150 49, 050 33,990 12,620 2,450 1,210
14206 /R 1 BiEttEss Y[03 [al b KE 73,010 71,800 2,200 23,520 46, 080 31,940 11,700 2,450 1,200
14206 /MNERTH1 BEttEH Y04 1| TERE (a) 12, 660 12,520 230 3,140 9,150 5,740 2,820 590 140
14206 /NEERTH1 BEttEH Y05 (1) TEARSE (a) 8,790 8,780 200 2,660 5,920 4,210 1,360 360 10
14206 /NEER1 BEHSEHY/06 (2 TEBRE (a) 3,870 3,740 30 480 3,230 1,540 1,460 230 130
14206 /NERTH1 Bt U(07 2 FAERE (a) 11,960 11, 850 600 3,460 7,780 4,660 1,840 1,280 110
14206 /NEERTH1 BattEH Y08 () EEARSE (a) 4,370 4,360 140 720 3,500 1,900 820 780 20
14206 /NEERTH1 BEttEH Y09 () EEBRE (a) 7,580 7,490 470 2,740 4,280 2,760 1,010 500 90
14206 /NEERTH1 BEttEH Y10 3 FRRE (a) 48,390 47, 440 1,370 16, 920 29,150 21,530 7,040 580 950
14206 /MNEERH1 BEttEH Y11 (1) ERHE (a) 33, 860 33,010 810 11,270 20, 920 14, 340 6,010 580 850
14206 /NEEH1 BEttEH Y12 Q) hEBEEERAME (a) 11,250 11,150 430 4,040 6,680 5, 650 1,040 - 90
14206 /NEERH1 BiEttEs Y13 Q) EREEERME (a) 3,270 3,270 130 1, 600 1,540 1,540 - - -
14206 /R 1 BiEttsss U[14 (bl bR RE 5,890 5,880 280 2,630 2,970 2,050 920 - 10
14206 /R 1 BiEttsss U[15 b, 28| = MiTaE R - - - - - - - - -
14206 /NEETH1 BiEttass Y[16 [c] Ak - - - - - - - - -
14206 /NEERTH1 BEttEs Y17 1| TERE (b - - - - - - - - -
14206 /NEETH1 BaEttEs Y18 (1) TEARSE (b) - - - - - - - - -
14206 /NEETH1 BEttEn Y19 ) TEBRE (b) - - - - - - - - -
14206 /R 1 Bt U[20 2 EmERE (b) - - - - - - - - -
14206 /NEETH1 BaEttEn Y21 () EEARSE (b) - - - - - - - - -
14206 /MNEERTH1 BttEsn Y(22 Q) EEBRE (b) - - - - - - - - -
14206 /NEERTH1 Bt U(23 3 ERERE (b) - - - - - - - - -
14206 /MNEERTH1 BEttEsn U(24 (1) ER#E (b) - - - - - - - - -
14206 /NEETH1 Bt Y[25 Q) hEBEEEAME (b) - - - - - - - - -
14206 /NEETH1 BiEttass Y[26 () EREEERME (b) - - - - - - - - -
14206 /R 1 BiEttass Y[27 [d] Ak - - - - - - - - -
14206 /R 1 Bt (28 BEHERE LN QK - - - - - - - - -
14206 /NEE1 BEHSESH Y[ (3118) Bk R (ki & U2 R A thish) 53,110 52, 040 1,570 16, 620 33, 850 23,130 8,720 2,000 1,070
14206 /NEIET2 BAEttass L{00 %k 13,980 13, 760 650 4,000 9,110 5,960 2,610 540 220
14206 /NEET2 Bt L(01 AMmstEXSE 13,980 13, 760 650 4,000 9,110 5,960 2,610 540 220
14206 /NEERT2 Bt L[02 a. 88| = MhstEXE 13,980 13,760 650 4,000 9,110 5,960 2,610 540 220
14206 /R 2 Bt L]03 [al kX 12, 850 12, 630 580 3,500 8, 550 5, 600 2,410 540 210
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INEREH2 BEHEAL[04 1 TERE (a) . 280 230 90 610 1,530 710 75 70 10
INEREH2 BEHEALI05 (N ITEARE (a) 1,650 1,630 90 520 1,020 550 410 60 10
INEREH2 BEHEAL(06 () TXBRE (a) 630 600 - 90 510 150 340 20 30
INERH2 BEHEL L7 2 mERE (a) 2,920 2,890 130 660 2,100 1,490 300 300 40
INEREH2 BEHEA L[S NEEARE (a) 1,180 1,160 40 50 1,070 750 120 210 30
INEREH2 BEHEALI09 QEEBRE (a) 1,740 1,730 90 620 1,020 750 180 90 10
INEREH2 BEHEAL(10 3 GERE (a) 7,650 7,510 360 2,220 4,930 3,400 1,360 160 130
INERER2 BEHESL L1 (1) &Rt (a) 5, 550 5,430 200 1,270 3,960 2,530 1,260 160 120
INEREH2 BEHEAL12 Q) hEEEEEAE (a) 1,780 1,760 140 740 890 790 100 - 10
INERER2 BEHEAL13 Q) EREEERME (a) 320 320 20 220 80 80 - - -
INBRR2 BAEHEL L[14 (bl iR 1,140 1,130 70 500 560 360 200 - 10
INBREH2 BAEHEA L15 b ERE| EMH st EXE - - - - - - - - -
INBREH|2 BAEHEL L{16 [o] FAikihig - - - - - - - - -
INERER2 BEHESA L7 1 TERE (b) - - - - - - - - -
INERER2 BEHSAL18 (D ITEARE (b) - - - - - - - - -
INERER2 BEHSAL19 QITXBRE (b) - - - - - - - - -
INERH2 BEHEL L[20 2 mERE () - - - - - - - - -
INERER2 BEHESAL21 WEEARE (b) - - - - - - - - -
INERER2 BEHESAL2 Q@EEBRE (b) - - - - - - - - -
INERER2 BEHEAL23 3 GERE (b) - - - - - - - - -
INERER2 BT L[24 (1) Bt (b) - - - - - - - - -
INEER2 BEHEAL25 (2 hEEEEEAE (b) - - - - - - - - -
INERER2 BEHELL[26 Q) EBEEERME (b) - - - - - - - - -
INBRR2 BAEHEA L27 [d] Akt - - - - - - - - -
INERH2 B L[28 BEMHEER L) K - - - - - - - - -
INAEH2 Bt LS (GIH8) DAk (A hisi B U 2k st 9, 600 9, 400 360 2,180 6,870 4,490 1,850 530 200
INERER22 BER 00 #3%k 13, 350 13,120 650 3,790 8, 690 5,680 2,460 540 220
INERER22 BER 01 AZmEHEXE 13, 350 13,120 650 3,790 8, 690 5,680 2, 460 540 220
INERER22 BER 02 a. $25| =&MHtEXE 13, 350 13,120 650 3,790 8, 690 5, 680 2,460 540 220
INERER22 BER 03 lalmhiL R 12,320 12,110 580 3,340 8,180 5,320 2,320 540 210
INERR22 BER 04 1 TR (a) 2,140 2,100 90 590 1,420 640 700 70 40
INERR22 BER 05 (NTEARSE (a) 1,510 1,500 90 490 920 490 370 60 10
INERR22 BER 06 () TXBRHE (a) 630 600 - 90 510 150 340 20 30
INERER22 BER 07 2 BWERSE (a) 2,750 2,710 130 630 1,950 1,380 270 300 40
INERR22 BER 08 (NEEARSE (a) 1,060 1,040 40 10 990 660 120 210 30
INERR22 BER 09 QBEEBRE (a) 1,680 1,670 90 620 960 720 150 90 10
INERR22 BER 10 3 EERRE (a) 7,430 7,300 360 2,130 4,810 3,290 1,350 160 130
INBIEH22 ZEER 11 ()R (a) 5,420 5, 300 200 1,210 3,890 2,470 1,250 160 120
INERR22 BER 12 Q) hEBEEERAME () 1,720 1,700 140 730 840 740 100 - 10
INBE22 EER 13 (3) B EEFAMIE (a) 300 300 20 190 80 80 - - -
INERER22 BER 14 Tol#HE AR X 1,020 1,010 70 440 500 360 140 - 10
INERR22 BER 15 b. IR 3| = HRTiTEHE K ik - - - - - - - - -
INBIEH22 ZEER 16 [c] Mz - - - - - - - - -
INERER22 BER 17 1 TERHE (b) - - - - - - - - -
INEER22 TER 18 (1) TEARSE (b) - - - - - - - - -
INEER22 TER 19 () T%¥BRiE (b) - - - - - - - - -
INEER22 TER 20 2 BWERSE (b) - - - - - - - - -
INEER22 TER 21 (NEEARE (b) - - - - - - - - -
INEER22 TER 22 QEEBRE (b) - - - - - - - - -
INEER22 TER 23 3 HERERE (b) - - - - - - - - -
INEER22 TER 24 (1) tEREthis (b) - - - - - - - - -
INBETH22 EER 25 () hEEEEEANE (b) - - - - - - - - -
INBETH22 EER 26 (3)ERBEEERME (b) - - - - - - - - -
INBETH22 EER 27 [d1 i ot - - - - - - - - -
INEER22 TER 28 BEREHEIRX 15 L5 ) K i - - - - - - - - -
INEER22 TER SI_ (BH8) WA BRisk (B A dbigh B UV ok St sah) 9,200 9,010 360 2,070 6,580 4,240 1,810 530 200
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